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1 Introduction
In last RAN4 80bis meeting, some Way forwards [1-4] on further simulation assumptions for 5G NR coexistence were agreed which include the general simulation assumptions, BS Beamforming models, UL power control and SINR vs throughput model. Base on the simulation assumptions, we provide and analyze the UL and DL throughput loss results for dense urban scenario in 30GHz.
2 Discussion
The simulation scenario is dense urban from WF on simulation assumptions [1] which is shown in the following table.
	No.
	Aggressor
	Victim
	Simulation frequency
	Direction
	Usage scenario
	Deployment Scenario

	3
	NR, 200MHz
	NR, 200MHz
	30 GHz
	DL to DL
	eMBB
	Dense urban

	6
	NR, 200MHz
	NR, 200MHz
	30 GHz
	UL to UL
	eMBB
	Dense urban


Details on dense urban scenarios are listed in the following table.
	Parameters
	Values
	Remark

	Network layout
	Fixed cluster circle within a macro cell.
	note1

	Number of micro BSs per macro cell
	3
	3 cluster circles are in a macro cell. 1 cluster circle has 1 micro BS.

	
	
	

	Radius of UE dropping within a micro cell
	< 28.9 m
	

	BS antenna height
	10 m
	 

	UE location
	Outdoor/indoor
	Outdoor and indoor
	 

	
	Indoor UE ratio
	80 %
	 

	
	50% low loss, 50% high loss
	Low/high Penetration loss ratio
	 

	
	LOS/NLOS
	LOS and NLOS
	Specified in TR38.900

	
	UE antenna height
	Same as 3D-UMi in TR 36.873
	 

	UE distribution (horizontal)
	Uniform
	 

	Minimum BS - UE distance (2D)
	3m
	 

	Channel model
	UMi
	Specified in TR38.900

	Shadowing correlation
	Between cite: 0.5
	Table 6.3.2.1 in TR37.809

	Note 1: Micro BS is randomly dropped on an edge of the cluster circle. All UEs communicate with micro BS, i.e. macro cell is only used for determining position of micro BS. As a layout of macro cell, hexagonal grid, 19 macro sites, 3 sectors per site model with ISD = 200m is assumed. 


3 Simulation results
The UL and DL average and 5%-tile throughput loss simulation results for dense urban scenario in 30GHz could be found in the following figures.
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Figure 1 UL average throughput loss for urban macro
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Figure 2 UL 5% CDF throughput loss for urban macro
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Figure 3 DL average throughput loss for dense urban
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Figure 4 DL 5% CDF throughput loss for urban macro
It can be observed from the figure 1 to figure 4 that to meet 5% loss threshold for average and 5%-tile throughput loss statistics, ACIR shall meet the requirements as following table. 

Table 1 ACIR values obtained from simulation results

	No.
	Simulation frequency
	Direction
	Deployment Scenario
	ACIR [dB]

(for average loss)
	ACIR [dB]

(for 5%-tile loss)
	ACIR [dB]

(for total cases)

	3
	30 GHz
	DL to DL
	Dense urban
	8
	14
	14

	6
	30 GHz
	UL to UL
	Dense urban
	5
	11
	11


For DL to DL case, if we consider the NR UE ACS as 27dB by reusing LTE 20MHz UE ACS, then the corresponding ACLR requirements for BS will be 14dB for dense urban scenario.

For UL to UL case, the BS ACS shall be much (~10dB) larger than the ACIR, so the corresponding ACLR requirement for UE will be 11dB for dense urban scenario.
For Noise figure, we can see that there is no much difference between the case with 9dB and 11dB NF for average throughput loss case. But for cell edge throughput, the NF has a bit impact to the relative throughput loss. It can be seen that with NF 11dB the throughput loss is smaller than that with NF 9dB.
4 Conclusion
In this contribution we provide the analysis on the UL and DL throughput loss results for dense urban scenario in 30GHz. Based on the simulation results, we can obtain that 

For DL, the ACIR requirement is 14dB and the ACLR requirement for BS is 14dB.
For UL, the ACIR requirement is 11dB and the ACLR requirement for UE is 11dB.
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